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They testify concerning their signature - 751 37 77° an> &Y

OVERVIEW

The mwn cites a dispute between 71271 °27 concerning W 1P through the
"n°nn 7Y themselves. 27 maintains that each 72°nn requires two 27y for
01°p; while the 0°20m maintain that each 210177 7¥ can be 0»pni his own 72°n
himself. The X713 explains their nP12m7 as follows. 27 maintains that the >7v
01’2 merely say that this is their signature (they are not testifying concerning
the content of the 7vWw). Therefore two 2*7¥ are required for each [ N (it
can be the two 72°nn 7V themselves). This is similar to a case where other
7y are 2”pn the N nn; two 27V (they may be the same two 2*7V) are
required to be 2pn each 72°nn. The amdm, however, maintain that the 7V
70, who are being 0>°pn the 0w are (really) confirming what is written in
the “vw.! When two o™y testify that the content of the 0w is true, that is a
valid ovp. It is not clear, however, why 71271 °27 assume their respective
positions. Is it because they judged and found the intent of the o7V to be so;
or is it something more basic in the application of the o1p through 7 nm >7v7?
Our nmoon prefers the latter view.
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It seems to NM»oIN that according to "2 who maintains that 17 77> 202 v

77°¥n, then even if the 07y explicitly state that they are testifying (not

[merelyz] on 77> 2n2, but rather [also]) on the loan of the /3% which is written

in the "YW, nevertheless -
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It is considered as if they are testifying (only) about their signatures (and
two 07y are required for each > nm).
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And similarly, according to the 3129 who maintain that 37 q0waw 7 Y

' When they say 7t %17 °"n2, it is implicit in their statement that everything written in the 70w is true.

? It seems that they are testifying 777 X7 °"n3, and are adding that they remember the loan.

? The explanation given is that even if they testify that the loan took place, nevertheless there is no 2vp
quwn if there are no two 079 that are 0»pn each 0. At best it would only be a "y moa. See 11 °"10. See
‘Thinking it over’ # 1.

* It would seem that they are saying we are testifying only to the veracity of our signatures. However it
(seemingly) cannot mean that they are saying that they do not recall (at all) what the 70w states. See
previous "1 17"7 (19102) R,2 M2OMN.
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T7°¥n, even if the 07V openly declare that they are merely testifying

about their signatures, nevertheless it is considered that they are testifying 71 9
Twaw (and each ¥ can be 0»pn his own Snm’nn).6

mooIn proves his assertion that stating a change of intent is irrelevant:
— a3 2950 1N RN 295 XD IN) 79902 199N T

For the X713 shortly discusses: ‘what should be done if there are no two
outside @°7¥ who recognize the signature of one of the signers; rather there

is only one 7v who recognizes his signature’.” The fact that this is problematic —
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indicates that even if the o7y will explicitly testify concerning their
signatures only, it will be of no avail to change the thrust of their testimony from
Uwaw 7 to 77 2nd. Otherwise (the X M3 should have answered) let the surviving 7V
explicitly state that he is testifying only 17> an3 %¥; which will therefore require two o*7v
to authenticate each signature. The surviving 7V together with an outsider will be able to
authenticate both signatures. The fact that this solution is not offered proves that it makes
no difference what the 27y state; their testimony is directed in the appropriate manner,
regardless of their intent. N19010 proved his assertion according to the 7127, and presumes
that the same applies according to *27.*

SUMMARY
7127 "2 retain their respective position whether qwaw mn v or *"nd by,
regardless of what the 0°7¥ proclaim.

THINKING IT OVER
1. mooIN maintains that according to *27 even if they say wwaw min 9,
nevertheless two 07y are required for each 72°nr; because in order for it to

> See footnote # 3. Nevertheless, the »"n explains that (according to the 1127) this is 2vp *7pn. Once we
know that the loan took place (and each 7¥ verifies his signature) it is considered a o”1pn “Ww.
% The dispute between 1127 27, whether PV 17 M0WIAW 73 2¥ or PTYA 7 77 23 9, is not dependent on
the intention of the a7¥; but rather it is intrinsically bound with the basic nature of 72N v >"y ovp; it is
either a 01°p of the signatures (°27), or a 21°p of the loan (3127).
7 The X3 asks (according to the opinion that "7wawny) what is to be done in a case where one of the *7v
nonn died before he authenticated his signature. In this situation two 0°7¥ are required to be o»pn his 7 nm.
However if there is only one (outside) 7v to be a»pn the i 0 of the deceased 7¥, there is a difficulty, for
we cannot have the surviving 017 79 join him in being 0»pn the nni nnonn (as the X7 explains). [This
difficulty does not exist if we maintain 2"7°n3y (see Xpa1 7"7 *"wA).] The X3 offers a solution to this
problem.
¥ See “Thinking it over’ # 3.
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be a “vwa M the M must be 27pn.” Why then does moo1n conclude
and say ""n> Dy P7Yn 1298 22w’ this is seemingly irrelevant?! mooin should
have said nm°nn 92 By 027V 1w X "M or something similar!

2. X717°n2. When miooin is discussing 27, he writes 'w17°92'; while by the 3327
he writes 'R>7:7%'?! M90IN concludes by °21 that 121 2°wn; however by the 1127
there is no (such) conclusion?

3. How does the proof for the 13127, (certainly) apply for >272!"°

? See footnote # 3.
10 See footnote # 8.
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